QUOTE

Ship to:

V. a.



Quote #: 11399297

Creation Date: Mar 26, 2021 Expiration Date: May 25, 2021

Bill to: Shawn Wescott East Stroudsburg Area School Distirict Smithfield Elementary School 245 River Rd East Stroudsburg, Pennsylvania, 18301-7922 United States T: 570-424-8500

Shawn Wescott
East Stroudsburg Area School Distirict
Smithfield Elementary School
245 River Rd
East Stroudsburg, Pennsylvania, 18301-7922
United States
T: 570-424-8500

Payment MethodGenerate Quote

Shipping Method FedEx - Ground

Sku	Product	Price	Qty	Subtotal
228-4000	VEX IQ Classroom Bundle	\$4,549.00	8	\$36,392.00
228-7396	VIQC Field Kit (Full 6'x8' Field)	\$320.00	6	\$1,920.00
			Subtotal:	\$38,312.00
			Tax:	\$2,298.72
			Grand Total:	\$40.610.72

From: Bill Vitulli / Tabitha Bradley

For: 95% Group Inc.

Motion to approve the purchase of "95 Phonics Booster Bundles" for all district students grades 3-5 at a cost of \$22,701.80 from the 95 Percent Group. These materials are fully funded through the ESSER III grant and are part of our 20% required programming ensuring eligibility for the grant.





Company Address 475 Half Day Road

Ste. 350

Lincolnshire, Illinois 60069

United States

Created Date 4/8/2021

Expiration Date 4/7/2021

Quote Number 00022253

Prepared By

Jackie Whiteman

8474969233 🌭

Phone Email

Bill To

jwhiteman@95percentgroup.com

Parent Account

East Stroudsburg Area School District

Ship To Name

Contact Name

East Stroudsburg Area District-District Office

Bill To Name

East Stroudsburg Area District-District Office

Ship To

East Stroudsburg Area School District

East Stroudsburg Area School District ATTN: Accounts Payable

50 Vine Street

East Stroudsburg, Pennsylvania 18301

United States

50 Vine Street

Tabitha Bradley

East Stroudsburg, Pennsylvania 18301

United States

Product Description	Product	Sales Price	Quantity	Total Price
95 Phonics Booster Bundle: Summer School Edition – Rising 1st Grade, Teacher's Package 2021	PH4011.01.21	\$160.00	25.00	\$4,000.00
95 Phonics Booster Bundle: Summer School Edition – Rising 1st Grade, Student Workbook Package, 2021, Pack of 5		\$39.00	73.00	\$2,847.00
95 Phonics Booster Bundle: Summer School Edition – Rising 2nd Grade, Teacher's Package 2021	PH4012.01.21	\$160.00	21.00	\$3,360.00
95 Phonics Booster Bundle: Summer School Edition – Rising 2nd Grade, Student Workbool Package, 2021, Pack of 5	PH4012.05.21	\$39.00	84.00	\$3,276.00
95 Phonics Booster Bundle: Summer School Edition – Rising 3rd Grade, Teacher's Packag 2021	e, PH4013.01.21	\$160.00	24.00	\$3,840.00
95 Phonics Booster Bundle: Summer School Edition – Rising 3rd Grade, Student Workbook Package, 2021, Pack of 5	PH4013.05.21	\$39.00	85.00	\$3,315.00
Shipping & Handling - 10% of printed product	Z8910	\$2,063.80	1.00	\$2,063.80
Subtotal	\$22,701.80			

Limited 30 day return/replacement policy: All product returns require prior approval. Please contact orders@95percentgroup.com to receive authorization. 15% restocking fee on all printed Phonics Lesson Library products. 10% on all other printed products. NO returns on opened shrink wrapped product. Damaged materials (stamped, written on, damaged from usage by client) will not be accepted. All sales are final for 95 Phonics Booster Bundle: Summer School Edition. NO refunds, exchanges or returns.

Total Price

Grand Total

\$22,701.80

\$22,701.80

Motion to approve the following materials and vendors for the addition of the below textbooks for 9th grade

students at North High School. These materials will be fully funded by the ATSI grant.

Materials/ Vendor	Amount / Cost	Total Cost	Implementation/Use
Essential Study Skills 8th Edition https://www.amazon.com/Essential-St udy-Skills-Linda-Wong-dp-128543009 3/dp/1285430093/ref=dp_ob_title_bk	10 / \$80.34	\$803.40	9th grade Study Skills Course/ Special Education Study Skills course
Study Skills & Study Skills Organization / https://www,landmarkoutreach.org/product/study-skills-study-skills-organizers/s/	20/ \$40	\$800.00	9th grade Study Skills Course/ Special Education Study Skills course
The Seven Habits of Highly Effective Teens, Sean Covey / Amazon	50 / \$9.40	\$470.00	9th grade Study Skills Course/ Special Education Study Skills course
The Seven Habits of Highly Effective Teens, Sean Covey workbook / Amazon	50 / \$5	\$250.00	9th grade Study Skills Course/ Special Education Study Skills course
Read to Achieve: Comprehending Narrative Text, Above And Beyond Amazon	20/ \$52.86	\$1,057.20	9th grade Basic English class/ 9th grade LS/ ES English
REWARDS: REWARDS Secondary Teacher Set, 3rd Editionhttp://store.voyagersopris.com/r ewards-intermediate-and-secondary/	6/ \$97.95	\$587.70	9th grade Basic English class/ 9th grade LS/ ES English
REWARDS: Secondary Student Book, 3rd Edition (set of 10). http://store.voyagersopris.com/rewards-intermediate-and-secondary/	6/ \$99.95	\$599.70	9th grade Basic English class/ 9th grade LS/ ES English
Teach Yourself to Learn https://www.amazon.com/Teach-Your self-How-Learn-Strategies/dp/162036 7564/ref=sr_1_1?crid=JE75YSZ4WR Q8&dchild=1&keywords=teach+yours elf+how+to+learn&qid=1616698351& s=books&sprefix=teach+yourself+ho %2Cstripbooks%2C132&sr=1-1	10 / \$17.91	\$179.10	9th grade Study Skills Course/ Special Education Study Skills course
The Executive Function Guidebook https://www.amazon.com/Executive-F unction-Guidebook-Strategies-Studen ts-ebook/dp/B07Q75FJ7Q/ref=sr 1 1 ?crid=1CZPVKQNBBC07&dchild=1& keywords=the+executive+function+gu idebook&qid=1616698570&s=books& sprefix=the+executive+function+g%2 Cstripbooks%2C137&sr=1-1	10 /\$ 34.15	\$341.50	9th grade Study Skills Course/ Special Education Study Skills course
		Total: \$5,088.60	